CONFIDENTIAL

_ Dual Completion

08/17/06

Spud Date or

Recompletion Date

.... Other (SWD or Enhr.?)

Docket No.

Docket No.,

09/26/06

Completion Date or

Recompletion Date

08/25/06

Date Reached TD

KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION

ORIGINAL 12/13/08

Approx. 9' S of

____ License No.:__

____ Docket No.: ___

Form ACO-1 September 1999 Form Must Be Typed

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

Operator: License # 5214	API No. 15 - 095 - 22050 -00 -00
Name: Lario Oil & Gas Co.	County: Kingman
Address: 301 S. Market St. GONFIDENTIAL	N2 -NE - SE - NW Sec. 17 Twp. 28 S. R. 05 ☐ East ✓ Wes
City/State/Zip: Wichita, KS 67202	feet from S / N circle one) Line of Section
Purchaser: Plains Marketing / EOV Gathering, LLC	feet from E (W)(circle one) Line of Section
Operator Contact Person: Jay G. Schweikert	Footages Calculated from Nearest Outside Section Corner:
Phone: (<u>316</u>) <u>265-5611</u>	(circle one) NE SE (NW) SW
Contractor: Name: Southwind Drilling Co., Inc.	Lease Name: Robinson A Well #: 1-17
License: 33350	Field Name: Dewey
Wellsite Geologist: Vem Schrag	Producing Formation: Mississippian
Designate Type of Completion:	Elevation: Ground: 1395 Kelly Bushing: 1404
New Well Re-Entry Workover	Total Depth: 4310 Plug Back Total Depth: 3818
Oil SWD SIOW Temp. Abd.	Amount of Surface Pipe Set and Cemented atFee
✓ Gas ENHR SIGW	Multiple Stage Cementing Collar Used?
Dry Other (Core, WSW, Expl., Cathodic, etc)	If yes, show depth setFee
If Workover/Re-entry: Old Well Info as follows:	If Alternate II completion, cement circulated from
Operator:	feet depth tow/sx cmt.
Well Name:	
Original Comp. Date: Original Total Depth:	Drilling Fluid Management Plan ALT NH8-20 (Data must be collected from the Reserve Pit)
Deepening Re-perf Conv. to Enhr./SWD	Chloride content 8,500 ppm Fluid volume 1000 bbls
Plug BackPlug Back Total Depth	Dewatering method used evaporation
Commingled Docket No	Location of fluid diamonal if hould definite.

INSTRUCTIONS: An original and two copies of this form shall be filed with the Kansas Corporation Commission, 130 S. Market - Room 2078, Wichita, Kansas 67202, within 120 days of the spud date, recompletion, workover or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. Information of side two of this form will be held confidential for a period of 12 months if requested in writing and submitted with the form (see rule 82-3-107 for confidentiality in excess of 12 months). One copy of all wireline logs and geologist well report shall be attached with this form. ALL CEMENTING TICKETS MUST BE ATTACHED. Submit CP-4 form with all plugged wells. Submit CP-111 form with all temporarily abandoned wells.

Operator Name:

County:_

107 for confidentiality in excess of 12 months). One copy of all wireline logs and geold TICKETS MUST BE ATTACHED. Submit CP-4 form with all plugged wells. Submit All requirements of the statutes, rules and regulations promulgated to regulate the oil herein are complete and correct to the best of my knowledge.	CP-111 form with all temporarily abandoned wells.
Signature: Select to the best in knowledge. Signature: Select to the best in knowledge. Signature: Select	KCC Office Use ONLY N
ppt. Expres	KCC WICHITA

Side Two

Operator Name: Lario Oil & Gas Co.			Lease	Lease Name:Robinson A			_ Well #:		
Sec. 17 Twp. 2	8 S. R. 05	_ East	County: Kingman						
ested, time tool oper emperature, fluid red	n and closed, flowing covery, and flow rates	d base of formations p and shut-in pressures, if gas to surface test, a al geological well site	whether s	hut-in pre	ssure reached	static level, hydros	static pressu	res, bottom hole	
Orill Stem Tests Take (Attach Additional		Yes No		[/L	og Format	ion (Top), Depth ar	nd Datum	Sample	
Samples Sent to Geo	ological Survey	✓ Yes No		Nam	е		Тор	Datum	
Cores Taken		☐ Yes 🗸 No		Heel	oner		2718	-1314	
lectric Log Run (Submit Copy)		✓ Yes No		Lans	ing		2989	-1585	
ist All E. Logs Run:				Paw	nee		3570	-2166	
_					rokee Sh		3621	-2217	
GR-DIL-CDL/	CNL-MICRO-P	E-SONIC			issippian		3777	-2373	
				Viola			4193	-2789	
		CASING Report all strings set-	RECORD	✓ Ne	_	ction, etc.			
Purpose of String	Size Hole Drilled	Size Casing Set (In O.D.)	We	ight / Ft.	Setting Depth	Type of Cement	# Sacks Used	Type and Percent Additives	
Surface	12.25"	8-5/8"	23		264	60/40 Poz	180	2% gel + 3% CC	
Production	7.875"	5-1/2"	15.5		4139	60/40 Poz	35	4% gel +0.4% SM3	
						Class H	225	10% Gyp+10#salt+	
		ADDITIONAL	CEMENT	ING / SQL	JEEZE RECOR	D 5# Kol-	seal + 0.5%	FL + 0.7% GB & D	
Purpose: Perforate Protect Casing Plug Back TD Plug Off Zone	Depth Top Bottom	Type of Cement	#Sack	s Used		Type and Pe	ercent Additive	· ·	
Shots Per Foot		N RECORD - Bridge Plu potage of Each Interval Pe		:		acture, Shot, Cement Imount and Kind of Ma		ord Depth	
4	3823' - 3828'				350 gal 15%	NEFE (only)			
4	3858' - 3860'				250 gal 15%	NEFE (only)			
6	3795' - 3805'				Frac w/ 38,00	00 gal 65Q N2 + 4	,000#		
					100 Mesh +	29,000 # 16/30 + 7	7,000# 16/30	RCS	
TUBING RECORD	Size 2-3/8"	Set At 3770'	Packer 3770'	At	Liner Run	Yes No		<u>k</u>	
	rd Production, SWD or En	hr. Producing Me		√ Flowin	g Pump	oing Gas Lift)	her (Explain)	
10/2 Estimated Production Per 24 Hours	26/06 Oil B	bls. Gas	Mcf	Wate		Bbls. G	as-Oil Ratio	Gravity 34.2	
Disposition of Gas	METHOD OF CO				Production Inte				
Vented ✓ Sold		Open Hole	☑ Per	1. [[Dually Comp.	Commingled			

Allied Cementing Co., Inc P.O. Box 31

Russell, KS 67665

KCC DEC 1 3 2006 COMFIDENTIAL

Invoice Number: 104057

Invoice Date: 08/25/06

Sold Lario Oil & Gas Company

To: P. O. Box 784

Hays, KS 67601

Cust I.D....: Lario

P.O. Number..: Robinson Al-17

P.O. Date...: 08/25/06

Due Date.: 09/24/06 Terms...: Net 30

[tem I.D./Desc.	Qty. Used	Unit	Price	Net	TX
lommon	108.00	SKS	10.6500	1150.20	Т
Pozmix	72.00	SKS	5.8000	417.60	Т
l el	3.00	SKS	16.6500	49.95	T
Chloride	6.00	SKS	46.6000	279.60	\mathbf{T}
Handling	189.00	SKS	1.9000	359.10	E
1ileage T	40.00	MILE	17.0100	680.40	E
189 sks @.09 pe	r sk per mi				
Gurface	1.00	JOB	815.0000	815.00	E
1ileage pmp trk	40.00	MILE	6.0000	240.00	E
Head Rental	1.00	PER	100.0000	100.00	E
[WP	1.00	EACH	60.0000	60.00	\mathbf{T}

All Prices Are Net, Payable 30 Days Following Subtotal: 4151.85
Date of Invoice. 1 1/2% Charged Thereafter. Tax....: 103.74
If Account CURRENT take Discount of 4/5./8 Payments: 0.00
DNLY if paid within 30 days from Invoice Date Total...: 4255.59

AUG 3 0 2/35

BCP AFE 06-168

RECEIVED
DEC 1 4 2006
KCC WICHITA

ALLIED CEMENTING CO., INC. 23947

RUSSELL, KANSAS 67665		SERV.	Mediciu:	e lodge
DATE 8-17-06 SEC. TWP. RANGE C	ALLED OUT PM O	N LOCATION	JOB START PA	10B FINISH
LEASE RObinson WELL#A-1-17 LOCATION MUCO	lock KS.	12 North	Kingman	STATE
OLD OR NEW (Circle one) 214 East.	south into			
C 1/1/2 1 = 2	1	. 10.1	, 0	KCC
CONTRACTOR Wind	OWNER LAC	10 011	t-Gas	
TYPE OF JOR SUCTACE	CEMENT			:L 13 2005
HOLE SIZE 24 T.D. 264'		DED	COM	IFIDENTIA
CASING SIZE 8/8 DEPTH 264 TUBING SIZE DEPTH	AMOUNT ORDER			
DRILL PIPE DEPTH	100 3 A B	2.10.21	0/-22	
TOOL DEPTH				
PRES. MAX SO MINIMUM	COMMON/	08 A	@ 10.65	1150,2
MEAS. LINE SHOE JOINT	POZMIX	72	@ 5.80	417.60
CEMENT LEFT IN CSG. 15	GEL .	3	@ 16.65	49.95
PERFS.	CHLORIDE	6	@ <u>46.60</u>	279.6
DISPLACEMENT 15 34 Bbls Water	ASC		. @	
EQUIPMENT			. @	
0 - 1			.@	
PUMP TRUCK CEMENTER Lark Polaina			. @	
#414-302 HELPER Jenn's Cushenbery				
BULK TRUCK			. @	· · · · · · ·
#368 DRIVER LANDY McKigney				
BULK TRUCK			. @	
# DRIVER	HANDLING	189	@ 1.90	359,10
		10 X18		
Kun 264' 8 18 Casing Freak cinculation With Lig. Mix 180 St 60:40:2 13:00 Release plug Displace With 15740615 Worker Leave 15 cement in Dire	DEPTH OF JOB	SERVIC	CE	
t. shot in.	PUMP TRUCK CH			815,00
	EXTRA FOOTAG		@	
- Circulate 30 sx to tot	MILEAGE	40	@ 6.00	240,0
•	MANIFOLD		@	
	Head Pent	ac	@100.00	100.0
CHARGE TO: Lario Oil + Gas		,	@	
STREET	·		TOTAL	1155.00
CITYSTATEZIP	85/8" PLU	JG & FLOAT		
	1-1WP		@ 60.00	60.01
			@	
To Allied Cementing Co., Inc.				
You are hereby requested to rent cementing equipment	ANTERAN		@	
and furnish cementer and helper to assist owner or	ANY APPLICA	ABLE TAX		1.0
contractor to do work as is listed. The above work was	WILL BE CH	IARGED	TO TO A I	1-00
done to satisfaction and supervision of owner agent or	UPON INV	DICING	TOTAL	40.00
contractor. I have read & understand the "TERMS AND	TAX			
CONDITIONS" listed on the reverse side.		OT A		=
	TOTAL CHARGE			.
	DISCOUNT		IF PAID	IN 30 DAYS
SIGNATURE Subvice Tusus	/ se las	m-to	I was	
SIGNATURE JUSTIN	Lunga	PRINTEI	NAME	
7		PRINTEL	J INAIVIE	

Allied Cementing Co., Inc P.O. Box 31

Russell, KS 67665

Invoice Number: 104118

Invoice Date: 08/29/06

NGG

DEC 1 3 2006 CONFIDENTIAL

Sold Lario Oil & Gas Company
To: P. O. Box 784

Hays, KS
67601

Cust I.D....: Lario

P.O. Number..: Robinson"Al-17

P.O. Date...: 08/29/06

Due Date.: 09/28/06 Terms...: Net 30

tem I.D./Desc.	Qty. Used	Unit	Price	Net	TX
:ommon	30.00	SKS	10.6500	319.50	Т
ozmix,	20.00	SKS	5.8000	116.00	
:el	2.00	SKS	16.6500	33.30	
:lass "H"	225.00	SKS	12.7500	2868.75	Т
;ypSeal	21.00	SKS	23.3500	490.35	Т
alt	24.00	SKS	9.6000	230.40	$ar{ extbf{T}}$
`L-160	106.00	LBS	10.6500	1128.90	T
as Block	148.00	LBS	8.9000	1317.20	T
eFoam	32.00	LBS	7.2000	230.40	\mathbf{T}
MS	17.00	LBS	1.9500	33.15	T
iud Clean	500.00	${ t GAL}$	1.0000	500.00	\mathbf{T}
:laPro	12.00	GAL	25.0000	300.00	T
landling	328.00	SKS	1.9000	623.20	Ē
lileage	40.00	MILE	29.5200	1180.80	Ē
328 sks @.09 pe	r sk per mi				_
rod. Casing	1.00	JOB	1675.0000	1675.00	E
lileage pmp trk	40.00	MILE	6.0000	240.00	E
lead Rental	1.00	PER	100.0000	100.00	E
acker Shoe	1.00	EACH	1325.0000	1325.00	${f T}$
atch Down	1.00	EACH	375.0000	375.00	T
Centralizers	6.00	EACH	50.0000	300.00	T
Il Prices Are Ne	t Pavahle 30 Dave F	Collowing Subt	otal.	12206 05	

	Subtotal:	13386.95
ate of Invoice. 1 1/2% Charged Thereafter.	Tax:	507.10
	Payments:	0.00
)NLY if paid within 30 days from Invoice Date	Total:	13894.05

RECEIVED
DEC 1 4 2006
KCC WICHITA

ALLIED CEMENTING CO., INC. 23881

REMIT TO	P.O. BOX 31
	RUSSELL, KANSAS 67665

nsc i a smo CONFIDENTIAL

SERVICE POINT:

MED. 606E

DATE 8-25-06	SEC. 17	TWP. 28s	RANGE OS W	(CALLED OUT	PUL	ON POCATION	JOB START	JOB FINISH
ROBINSON LEASE	WELL#	1#1-17	LOCATION ///	URL	DOCK	1/2	NORTH	COUNTY	STATE
OLD OR NEW (Cire			23/4 EA			74 -	INTO		
CONTRACTOR	Com	+WIN.	0#2		OWNER		DOTO (21 46	AS
TYPE OF JOB	PODINO	TTON	CASING.		OWNER		TRIO C		
HOLE SIZE 7	184	T.D.	4308		CEMEN	T		_	1
	5" 15	DEP	TH 4139		AMOUN	TORE	DERED 500 0	ALE MUL	CLEAN
TUBING SIZE		DEP	<u>TH</u>		50sq	60:4	0:4 + 4	1/6 SMS	-16-1
DRILL PIPE		DEP			225 5	x H	+ 16% CYP	+10% SA	17+5*K.
TOOL	catt	DEP			+.5%	FL-	160 + 7%	GAS BLOC	K+DEFOR
PRES. MAX 14.2 MEAS. LINE			IMUM	10	COMMO		<u> 30</u>	_@ <u>10.65</u>	3/9.30
CEMENT LEFT IN	CSG	SHC	E JOINT <u>30.</u>	10	POZMIX GEL	·	20	_@_ <u>5.86</u>	33.30
PERFS.	<u>C5Q.</u>				CHLORI	DE.		_@ <i>16.65</i> _ @	22.30
DISPLACEMENT	99	1/2 /	Ble 2%	Kri	#SCI AS		225		2868.75
	EOU	IPMENT	() /) /) /) /) /) /) /) /) /) 		648-5	EAL	21	@ 23.35	490-35
	DQU	1	0		5011		24	@ 9.60	230.40
PUMP TRUCK C	EMENTI	ER KEUT	N ROUNTAR	OIK	-FZ-16	50	106#	_@ 10.65	1128.90
an.	ELPER	DART	N FOONV	141	1 GASI	3LOC.	K 148#	_@_ <i>B.90</i> _	1317.20
BULK TRUCK	EDDI DIC	<u> </u>	0.0		DEFOR	HUEK	32#	_@_ <i>7.20</i> _	230-40
#381-249 D	DRIVER	LYNT	-WIII	ARI	$O \frac{SIIS}{max}$	1100	1/ 500	_@_ <i>_1.95</i>	33.15
BULK TRUCK		$\overline{\cap}$. / .		AL OLD	UZHI O S	V 200	_@ <u>7.00 </u>	500.00
<u>#</u>	DRIVER	TEVE	KRAME	<u>R</u>	HANDLI	NG 3	28	@ <u>1.90</u>	623 20
			O		MILEAG			-09	1180.80
	REN	AARKS:						TOTAL	9371.95
							SERVI		
JEE 1	05	COG			DEPTH (139	
							CHARGE		1675.00
					EXTRA I		GE	_@	
					MILEAG		40	_@ <i>6.06</i>	240.00
					MANIFO	DLD	Janny -	_ @ <u>/00.00</u>	100 00
			_		FICHIL		CIVAC	_@ <u>///////</u> @	100-00
CHARGE TO:	050	Orl.	+ 60=				<u> </u>		
								ТОТАІ	2015.00
STREET			1					TOTAL	
CITY	STA	TE XA	ISAS ZIP			. (
					5/2	P	LUG & FLOAT	EQUIPMEN	T
)			
			,		1-16	CKE	RJHOE	_@ <i>132</i> 5.00	1325.00
					1-19	TCH	DOWN MU	16.375.00	315.00
To Allied Cementi					6-CE1	VIKE	TITEKS	_@ <i>50.00</i> _	200.00
You are hereby rec				nt				_@	
and furnish cemen		_			ANYA	PPL	ICABLE TA	X	
contractor to do w							CHARGED		2000.00
done to satisfaction							VOICING	IOIAL	2000.00
contractor. I have				.ND	TAX	711 A 1	· · · · · · · · · · · · · · · · · · ·	_	
CONDITIONS" li	stea on th	ie reverse	side.						
					TOTAL C	CHARC	iE	*	
	_				DISCOU	NT		IF PAII	IN 30 DAYS
1/	1	111	f						
SIGNATURE	Han	fteter	re,						
-	11	-			***************************************		PRINTI	ED NAME	

LARIO OIL & GAS COMPANY



301 SOUTH MARKET STREET
WICHITA, KANSAS 67202
(316) 265-5611 FAX: (316) 265-5610

December 13, 2006

Kansas Corporation Commission Oil & Gas Conservation Division 130 S. Market, Room 2078 Wichita, KS 67202



RE: Confidentiality Request for Logs and Drilling Information

Robinson "A" #1-17

API #095-22050

~9' S of N2 NE SE NW Sec. 17-28S-5W

Kingman Co., KS

Gentlemen:

Please find enclosed the following items for the referenced well:

ACO-1; Well Completion Form

Cementing Invoices

Geological Well Site Report

Jay S. Schweileert

Electric Logs

Lario requests that all of the information concerning this well be kept confidential for the maximum time allowable by KCC Regulations. If you require any additional information, please feel free to contact me.

Sincerely,

Jay G. Schweikert Operations Engineer

Encl.

XC:

SKD, WF

RECEIVED
DEC 14 2006
KCC WICHITA